VTS EXAMINATION 2016 - 17
Class : II PRELIMINARY QUESTION PAPER 2

Score : 200
Register No : || || Time : 2 hrs

General Instructions
1. Candidates are supplied with an OMR Answer Sheet.
2. Answer the questions in the OMR Sheet by shading the appropriate bubble.
3. Shade the bubbles with pencil.
4. Each question carries four marks.
5. Use the space provided in the last page for rough work.

Read the following passage carefully and answer the questions that follow.

Arjun lives in Ravli village. He is a weaver. He makes cloth on a loom. He makes
beautiful blankets and colourful sarees. He likes to make colourful designs. It takes a long
time to weave a saree. Arjun has a brother. His name is Ram. He works in Badohi village. He
weaves carpets. Both of them work very hard. They sell their blankets, sarees and carpets in

the market and people like them very much.

Arjun livesin ................... village

A. Motra B. Badohi C. Ravli D. Manali
Arjun and Ram weave .................

A. Sarees B. Blankets C. Carpets D. All of these
Ram worksasa ........................

A. Mason B. Carpenter C. Weaver D. Goldsmith
Pick out the antonym of the word ‘buy’ from the passage

A. Hard B. Like C. Make D. Sell

Tiger is

A. An B. A C. The D. No article



10.

11.

12.

13.

I had my dinner

A.In B. On C. At D. To
The children are in the park. ...............are playing

ﬁ*ﬂﬁng,‘?m»gwg’«}?&
A. He B. Her C. It D. They

Tea is hot, but ice-cream is ..................

A. Bitter B. Sweet C. Cold D. Heat
Identify the correctly spelt word

A. Tortoisa  B. Tortoies C. Tertoise D. Tortoise
The synonym of the word “flash’is ..................

A. Show B. Hide C. Remember D. Forget

Complete the series.

/LN
A.> B. | c. \/ D. []

Write the next number.
15,18,24,33, .........
A. 40 B. 38 C. 45 D. 39

How many tens are there in 99 ?

A. 99 B. 9 C. 10 D. 11



14.

15.

16.

17.

18.

Find the missing number.

If then
10 8 15 8

2

A. 8 B. 2 C. 7 D. 10

One kilogram orange costs 25 rupees. What is the cost of 4 kilograms of orange ?

A. 29 B. 21 C. 100 D. 125
There are internal and external organs in our body....... 1s an internal organ.
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A. Chest B. Shoulder C. Stomach D. Nose
Which of the following is a good manner?
A. John often tells lies B. Meettu covers her nose while sneezing

C. Mahesh spits in public places  D. Roy puts waste papers in classroom

Where does the Prime Minister hoist the National Flag on Independence Day ?
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B. Taj Mahal C. Agra Fort D. India Gate
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A. Stem B. Branch C. Leaf D. Flower



20.

21.

22.

23.

24.

25.

26.

27.

28.

Find the odd one

A. Aeroplane B. Train

Olympics 2016 was held in

A. Greece B. Argentina C. Brazil D. China
Identify the given logo.
A. Milma B. KILA C.BHEL  D. State Bank of India

Horse iveS 1N weeveeeeeeeeeeeenn.

A. Shelter B. Kennel C. Den D. Stable
ISI is an intelligence agency of which country ?

A. Pakistan  B. Afghanistan C. India D. Myanmar
Which of the following is closely related to a Panchayath ?

A. Ward Member B. President C. Prime Minister D. Governor

Who is the head of the bank where we deposit money ?

A. Manager B. Clerk C. Attender

Gurudwara is the place of wordship of

A. Hindus B. Muslims C. Christians D. Sikhs
‘Sunday School’ is related to ...........c............
A. Christians B. Muslims C. Budhists D. Sikhs



29.

30.

31.

32.

33.

34.

35.

Who was the first president of Indian National Congress ?

A.A.O. Hume B. W.C. Banerjee  C. Jawaharlal Nehru

Who is known as ‘Lion of Punjab’ ?

A. Lala Lajpat Rai B. Bal Gangadhar Tilak
C. Sardar Vallabhbai Patel D. Jawaharlal Nehru

Which of the following is known as ‘Flying Fox’ ?

A. Bat

Who invented telegraph ?
A. John L Baird B. Alexander Fleming C. Rene Elneff

Which is the capital city shared by two states ?

D. Mahatma Gandhi

D. Alexander G. Bell

A. Chandigarh B. Panaji C. Dispur D. Ahamedabad

-

Taj Mahal is situated at ...........cccceeneeee 3 i —“ b
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A. Agra B. Pune C. Hyderabad D. Mumbai

Name the monument built in memory of the eradication of Plague.

A. Charminar B. Taj Mahal C. Golkonda Fort

D. India Gate



Circle:Arc::Square:?
A. Line B. Triangle C. Sphere  D. Rectangle
Fahmi ranked 17th from the top and 31st from the bottom.

How many students are there in the class ?

A. 47 B. 48 C. 49 D. 38
2,4,6,8,?
A. 10 B.9 C. 11 D.7

Ashiq is going Eastward .He turns right , and moves some distance.
In which direction is now Ashiq going ?
A. South B. North C. West D. East

Direction (40-47) In each of the following questions,find out the answer figure which

40.

41.

42.

complete the problem figure matrix.
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47.

Count the number of triangles

48.

D.9

C.8

B. 6

A. 4



49. Count the number of rectangles

A. 4

50. Count the number of circles

B.5

B.2

C.3

C.3

D. 4

Space for rough works




